[ Efficiency vs vertpos |

—0.05
$.045
2
20.04
(&)
$.035
O
£0.03
0.025
0.02
0.015
0.0
0.005

q

0.8

Ratio

USSR C SR B LAARE LA RE 20 RAARN RAARE BALAN RARAN LARAN LALLE LRS!

o
)

10

=
2
N

10 0?
TP vertr (cr%)

—— DQM_TT__CKF_ORIG

Efficiend

—— DQM_TT__CKFLowWPtT_ORIG
—— DQM_TT__CKFLowPtT_MODIF

~n0.02r
9.018
[2] L
.016F
& F
D.014F
‘© o
D.012F
()
0.01F
0.008
0.006
0.004F
0.002

.............

.............

..........

...........

[ Efficiency vs. sim PV z |

20
TP vert z (cm)

10 30

~0.05
>
£0.045
£
50.04
9.035
3
20.03
k)
9.025
[J]
0.02
0.015
0.01

0.005

=
T

50 =15 -10 -5

5

10 15 20
Sim. PV z (cm)




	Contents
	Page 1


